Find all the EXACT values of 0 for 0 < 6 < 21 that makes this
equation true.

keep adding
a period to
each answer
until you
reach 2m

Find all values of 6 for 0 < 6 < 360° that makes this
equation true. Round to the nearest hundredth.
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Find all the EXACT values of 0 for 0 < 0 < 2 that makes this
equation true. E—
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Find all values of 6 for 0 <0 < 360° that makes this

equation true. Round to the nearest hundredth.
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Find all values of 6 for 0 < 6 < 21 that makes this
equation true. Round to the nearest hundredth.
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